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K1 FeCl, KI
2Fe’ " +31"==2Fe¢’" +1;
EC =@®(Fe' " /Fe’") —®(1; /17)
=0.77V -0.53V =0.24V
298K
nE®  2x0.24V
16K =0 0592 = 0.0502 ~ 108
K=1.283 x10°
. KI FeCl,
KI ¢( Fe'™)
FeCl, KI
Fe’* o
Fe(SCN)’™ (n=1~6)
480nm
1 x10%, Fe( SCN) * ™"
0.1
¢(Fe’*) =1 x10 “mol /L.
¢(Fe'") =a mol/L.c(I7) =na mol/L
c(Fe’™) =2 x 10 “mol /L c( Fe')
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FeCl, KI
: 5 ~6 .
0.5 mL.1.0 mL.2.0 mL FeCl, 5 mL KI
2 mL
~3
5 ~6 KSCN o 1.
1
% LHAA LRIL
5|V (KD|V (FeCly) | U5 [V (KSCN)
1 [SmL| 6 | CHs| 5~61 |WlRARLE, ME 1 RGEVREL
2 |smL| 6% CCly | 5~61H | WMlERIE, HE 1 RIGHEMNE
3 |5mL| 87 | CeHe | 5~6i |WMEMAE, ME 1 KELHERN

4 |5mL| 8 CCly | 5~61 | WHEMAE, KE 1 Rase g
5 |5mL | 0.5mL | CHs | 5~61 |[WRERAE, ME 1 K5 L 22
6 |SmL | 0.5mL | CCly | 5~61 | WRSKRLAE, BE | RSHEMR
7 |SmL | LOmL | CeHe | 567 |, JUE | RIEEH B2
8 [SmL | 1.0mL | CCl | 5~61 | WHEMAE, BE 1 RGHEME
9 | SmL | 20mL | CeHe | 5~6# |WHEMAE, HME 1 RETLHBEK
10 | SmL | 20mL | CCl | 5~6i4 | WEEIMAE, BE 1 RIFHEME
(KL FeCly 0.1 mol * L™! FeCl,
FeCl, 0.2 mol * L7!
KSCN 20% o
0.1 mol/L FeCl; 0.1 mol/L
KI KI
FeCl, 10 KSCN
Fe3 +
KSCN ;
KI FeCl, 5
I;
F63 +
o 3
C,H, ccl,
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> I, FeCl, SCN™  Fe'*
. C.H, :
Fe?* . Fe'* +nSCN~==2Fe( SCN) "~V -
2. KSCN & ik R 4R 5 SCN "~ Fe( SCN) ("=~
50 mL 0.1 mol * L™" KI 10 mL . KSCN 20%
0.1 mol « L7 FeCl,
. 20 mL 3 .
2 mL . 5% 15% - “ KI  FeCl,
20%  KSCN 2. ”
2 :
1 2 3 (1) 5 mL 0. 1 mol/LKI 1 mL
RSCN 3% 15% 20% 0.1 mol/L FeCl, .
V(KSCN) | 5 ~6 5 ~6 5 ~6 )
(2) 2 mL 3.
(3)  20%KSCN .
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